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gu/kflnsf 

cfGtl/s >f]t 

tkm{sf]  hDdf /sd ?

1
gu/kflnsf 

cfGtl/s >f]t tkm{
10000000 1 ssG^]Gh]G;L 1200000 300000 1,500,000.0    

2 lgzt{ 36309000 2 ;dk'/s sf]if 900000 100000 1,000,000.0    

3 &'nf k"jf{wf/ 10000000 3 ax'p$]lZoo ejg sf]z]nL #/ 5000000 0 5,000,000.0    

4 17696000 0 17,696,000.0    

5 5000000 0 5,000,000.0    

6 cfsl:ds ;/;kmfO tyf dd{t ;+ef/ 0 600000 600,000.0     

29796000 1000000 30,796,000.0    

34,209,000.0  9000000 43,209,000.0   

s_ dlxnf z;lQms/)f 3,420,900.0   900,000.0    4,320,900.0    10%

v_ jfnjflnsf sfo{qmd 5,131,350.0    1,350,000.0   6,481,350.0     15%

15%

1 h]i& gful/s 684,180.0    180,000.0    864,180.0     2%

2 blnt 684,180.0    180,000.0    864,180.0     2%

3 cflbjf;L hghftL 1,710,450.0   450,000.0   2,160,450.0     5%

4 ckfª\u 684,180.0    180,000.0    864,180.0     2%

5 dw];L d\l:nd lk%*f ju{{ 684,180.0    180,000.0    864,180.0     2%

6 o'jf 684,180.0    180,000.0    864,180.0     2%

13,683,600.0   3,600,000.0   17,283,600.0    

7 12,315,240.00  3,240,000.0   15,555,240.00   

8 8,210,160.00   2,160,000.0   10,370,160.00   

74,005,000.0  64,005,000.0  10,000,000.0  74,005,000.0   hDdf hDdf
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cfly{s ;fdflhs Pjd ef}lts 

k\jf{wf/ ljsf; sfo{qmd

k|{j$gfTds sfo{qmd

nlIftsf] hDdf

74,005,000.0  

cfDbfgL vr{

s}lkmot

    lg0f{o g+ ^, 

              cf=j=)&$÷)&% sf] nfuL cg'dflgt k"+lhut vr{ ljj/0f b]xfo cg';f/ x'g] lg0f{o ul/of] .

ljj/)f ljj/)f

gu/kflnsf ejg

gu/ If]q k"jf{wf/ ljsf; sfo{qmdgu/ If]q k"jf{wf/ 

ljsf; sfo{qmd
176960004

nlIft ;d\x ljsf; sfo{qmd

cfly{s ljkGg cGo nlIft ;d'x

hDdf 

hDdf afsL 
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25,925,400.0          

5,400,000.0          


